

Ex 01

$$p(\lambda) = \begin{vmatrix} -3-\lambda & -2 & -2 \\ 2 & 1-\lambda & 2 \\ 3 & 3 & 2-\lambda \end{vmatrix} \xrightarrow{c_1 \rightarrow c_1 + c_2} \begin{vmatrix} -1-\lambda & -2 & -2 \\ 1+\lambda & 1-\lambda & 2 \\ 0 & 3 & 2-\lambda \end{vmatrix}$$

det(A - \lambda I) =

$$\xrightarrow{R_1 + R_2 \rightarrow R_1} \begin{vmatrix} 0 & -1-\lambda & -2 \\ 0 & -1-\lambda & 0 \\ 0 & 3 & 2-\lambda \end{vmatrix}$$

$$= (-1-\lambda)(-1-\lambda)(2-\lambda) = (2-\lambda)(\lambda+1)^2$$

$$p(\lambda) = (2-\lambda)(\lambda+1)^2$$

$p(\lambda) = 0 \Rightarrow \lambda_1 = -1, m_1 = 2$
 $\lambda_2 = 2, m_2 = 1$

$E(\lambda) = \ker(A - \lambda I_3): (A - \lambda I_3)X = 0 \Rightarrow \begin{pmatrix} -3-\lambda & -2 & -2 \\ 2 & 1-\lambda & 2 \\ 3 & 3 & 2-\lambda \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$

$\Rightarrow \begin{cases} (-3-\lambda)x - 2y - 2z = 0 \\ 2x + (1-\lambda)y + 2z = 0 \\ 3x + 3y + (2-\lambda)z = 0 \end{cases} \quad (I)$

for $\lambda = \lambda_1 = -1$: $\begin{cases} -2x - 2y - 2z = 0 \\ 2x + 2y + 2z = 0 \\ 3x + 3y + 3z = 0 \end{cases} \Rightarrow \boxed{z = -x - y}$

$X = \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} x \\ y \\ -x-y \end{pmatrix} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}x + \begin{pmatrix} 0 \\ 1 \\ -1 \end{pmatrix}y = x \underbrace{\begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}}_{v_1} + y \underbrace{\begin{pmatrix} 0 \\ 1 \\ -1 \end{pmatrix}}_{v_2}$

$E(\lambda) = E(-1) = \langle v_1, v_2 \rangle$ and $\dim E(\lambda_1) = 2 = m_1$

For $\lambda = \lambda_2 = 2$: $(II) \Rightarrow \begin{cases} -5x - 2y - 2z = 0 \\ 2x - y + 2z = 0 \\ 3x + 3y = 0 \end{cases}$

$-5x + 2x - 2z = 0$
 $\Rightarrow -3x - 2z = 0$
 $\Rightarrow 2z = -3x \Rightarrow \boxed{z = -\frac{3}{2}x}$

$\Rightarrow 2z = -3x \Rightarrow \boxed{z = -\frac{3}{2}x}$

1

$$X = \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} x \\ -x \\ -\frac{3}{2}x \end{pmatrix} = x \begin{pmatrix} 1 \\ -1 \\ -\frac{3}{2} \end{pmatrix} \text{ or } \underbrace{\begin{pmatrix} 2 \\ -2 \\ -3 \end{pmatrix}}_{v_3} \quad (1)$$

$$E(\lambda_2) = \langle v_3 \rangle \text{ and } E(\lambda_2) = 1 = m_2$$

$$B' = (v_1, v_2, v_3) : D = \begin{pmatrix} -1 & 0 & 0 \\ 0 & -1 & 0 \\ 0 & 0 & 2 \end{pmatrix} = P^{-1} A P$$

$$P = (v_1, v_2, v_3) = \begin{pmatrix} 1 & 0 & 2 \\ 0 & 1 & -2 \\ -1 & -1 & -3 \end{pmatrix}$$

calculate P^{-1} : $X' = P X \Leftrightarrow X = P^{-1} X'$

$$\begin{pmatrix} x' \\ y' \\ z' \end{pmatrix} = \begin{pmatrix} 1 & 0 & 2 \\ 0 & 1 & -2 \\ -1 & -1 & -3 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} x' \\ y' \\ z' \end{pmatrix} = \begin{cases} x' = x + 2z \rightarrow (1) \\ y' = y - 2z \rightarrow (2) \\ z' = -x - y - 3z \rightarrow (3) \end{cases}$$

By (1) + (2) + (3): $x' + y' + z' = -3z$

$$\Rightarrow \boxed{z = -\frac{1}{3}x' - \frac{1}{3}y' - \frac{1}{3}z'}$$

By (1) $\Rightarrow x = x' + \frac{2}{3}x' + \frac{2}{3}y' + \frac{2}{3}z'$

$$\boxed{x = \frac{5}{3}x' + \frac{2}{3}y' + \frac{2}{3}z'}$$

By (2): $y = y' - \frac{2}{3}x' - \frac{2}{3}y' - \frac{2}{3}z'$

$$\Rightarrow \boxed{y = -\frac{2}{3}x' + \frac{1}{3}y' - \frac{2}{3}z'}$$

$$P^{-1} = \begin{pmatrix} \frac{5}{3} & \frac{2}{3} & \frac{2}{3} \\ -\frac{2}{3} & \frac{1}{3} & -\frac{2}{3} \\ -\frac{1}{3} & -\frac{1}{3} & -\frac{1}{3} \end{pmatrix}$$

3/ we have $D = P^{-1}AP \Rightarrow A = PD P^{-1} = 0$

$$A^n = P D^n P^{-1} = \begin{pmatrix} 1 & 0 & 2 \\ 0 & 1 & -2 \\ -1 & -1 & 3 \end{pmatrix} \begin{pmatrix} (-1)^n & 0 & 0 \\ 0 & (-1)^n & 0 \\ 0 & 0 & 2^n \end{pmatrix} \begin{pmatrix} \frac{2}{3} & \frac{2}{3} & \frac{2}{3} \\ -\frac{1}{3} & \frac{1}{3} & -\frac{1}{3} \\ \frac{1}{3} & -\frac{1}{3} & -\frac{1}{3} \end{pmatrix}$$

$$A^n = \begin{pmatrix} (-1)^n & 0 & 2(-1)^n \\ 0 & (-1)^n & -2(-1)^n \\ -(-1)^n & -(-1)^n & -3(2)^n \end{pmatrix} \begin{pmatrix} \frac{2}{3} & \frac{2}{3} & \frac{2}{3} \\ -\frac{1}{3} & \frac{1}{3} & -\frac{1}{3} \\ \frac{1}{3} & -\frac{1}{3} & -\frac{1}{3} \end{pmatrix}$$

α

$$= \begin{pmatrix} \frac{2}{3}(-1)^n - \frac{2}{3}(2)^n & \frac{2}{3}(-1)^n - \frac{1}{3}(2)^n & \frac{2}{3}(-1)^n - \frac{1}{3}(2)^n \\ -\frac{1}{3}(-1)^n + \frac{2}{3}(2)^n & \frac{1}{3}(-1)^n + \frac{1}{3}(2)^n & -\frac{1}{3}(-1)^n + \frac{2}{3}(2)^n \\ -\frac{2}{3}(-1)^n + \frac{2}{3}(-1)^n + (2)^n & -\frac{2}{3}(-1)^n - \frac{1}{3}(-1)^n + (2)^n & -\frac{2}{3}(-1)^n + \frac{2}{3}(-1)^n + (2)^n \end{pmatrix}$$

~~$$A^n = \begin{pmatrix} (-1)^n & 0 & 2(-1)^n \\ 0 & (-1)^n & -2(-1)^n \\ -(-1)^n & -(-1)^n & -3(2)^n \end{pmatrix}$$~~

$$A^n = \begin{pmatrix} \frac{2}{3}(-1)^n - \frac{2}{3} \cdot 2^n & \frac{2}{3}(-1)^n - \frac{1}{3} \cdot 2^n & \frac{2}{3}(-1)^n - \frac{1}{3} \cdot 2^n \\ -\frac{1}{3}(-1)^n + \frac{2}{3} \cdot 2^n & \frac{1}{3}(-1)^n + \frac{1}{3} \cdot 2^n & -\frac{1}{3}(-1)^n + \frac{2}{3} \cdot 2^n \\ -(-1)^n + 2^n & -(-1)^n + 2^n & 2^n \end{pmatrix}$$

~~$$A^0 = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}, A = \begin{pmatrix} -3 & -2 & -2 \\ 2 & 1 & 2 \\ 3 & 3 & 2 \end{pmatrix}$$~~

$= I$

3/ we have $X_{n+1} = A X_n \Rightarrow X_n = A^n X_0$

$$\Rightarrow \begin{pmatrix} x_n \\ y_n \\ z_n \end{pmatrix} = \begin{pmatrix} A^n \end{pmatrix} \begin{pmatrix} 1 \\ 8 \\ 7 \end{pmatrix} \quad (1)$$

$$\Rightarrow \begin{cases} x_n = \alpha \left[\frac{5}{3}(1-\lambda)^n - \frac{1}{3} \cdot 2^n \right] + \beta \left[\frac{2}{3}(1-\lambda)^n - \frac{1}{3} \cdot 2^n \right] + \gamma \left[\frac{1}{3}(1-\lambda)^n - \frac{1}{3} \cdot 2^n \right] \\ y_n = \alpha \left[-\frac{2}{3}(1-\lambda)^n + \frac{1}{3} \cdot 2^n \right] + \beta \left[\frac{1}{3}(1-\lambda)^n + \frac{1}{3} \cdot 2^n \right] + \gamma \left[-\frac{2}{3}(1-\lambda)^n + \frac{1}{3} \cdot 2^n \right] \\ z_n = \alpha \left[-(1-\lambda)^n + 2^n \right] + \beta \left[-(1-\lambda)^n + 2^n \right] + \gamma \left[2^n \right] \end{cases}$$

4/ we have $X' = A X \Rightarrow$

$$X = c_1 v_1 e^{1t} + c_2 v_2 e^{1/2 t} + c_3 v_3 e^{2/3 t}$$

$$X = c_1 v_1 e^{-t} + c_2 v_2 e^{-t} + c_3 v_3 e^{2t}$$

$$X = (c_1 v_1 + c_2 v_2) e^{-t} + c_3 v_3 e^{2t}$$

$$\begin{pmatrix} x \\ y \\ z \end{pmatrix} = \left[c_1 \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix} + c_2 \begin{pmatrix} 0 \\ 1 \\ -1 \end{pmatrix} \right] e^{-t} + c_3 \begin{pmatrix} 2 \\ -2 \\ 3 \end{pmatrix} e^{2t}$$

$$\Rightarrow \begin{cases} x = c_1 e^{-t} + 2c_3 e^{2t} \\ y = c_2 e^{-t} - 2c_3 e^{2t} \\ z = (-c_1 - c_2) e^{-t} + 3c_3 e^{2t} \end{cases}$$

(4)

EX 2. 1) $p(\lambda) = \det(B - \lambda I_3) = \begin{vmatrix} 3-\lambda & 1 & -1 \\ 1 & 1-\lambda & 1 \\ \frac{2}{\lambda} & 0 & 2-\lambda \end{vmatrix}$

$\underline{c_1 - c_3 \rightarrow c_1} \quad \begin{vmatrix} 4-\lambda & 1 & -1 \\ 0 & 1-\lambda & 1 \\ \lambda & 0 & 2-\lambda \end{vmatrix}$

$\underline{c_2 + c_3 \rightarrow c_2} \quad \begin{vmatrix} 4-\lambda & 1 & 0 \\ 0 & 1-\lambda & 2-\lambda \\ \lambda & 0 & 2-\lambda \end{vmatrix} \quad \begin{matrix} r_1 \\ r_2 \\ r_3 \end{matrix} \quad \underline{r_1 - r_3 \rightarrow r_1}$

$= \begin{vmatrix} 4-\lambda & 1 & 0 \\ -\lambda & 1-\lambda & 0 \\ \lambda & 0 & 2-\lambda \end{vmatrix} = (1-\lambda) [(4-\lambda)(1-\lambda) + \lambda]$
 $= (1-\lambda) (4 - 4\lambda + \lambda + \lambda^2 + \lambda)$
 $= (1-\lambda) (\lambda^2 - 4\lambda + 4)$
 $= (1-\lambda) (\lambda - 2)^2 = -(\lambda - 2)^3$

$p(\lambda) = -(\lambda - 2)^3$

2) $q(\lambda) = -p(\lambda)$

3) $\begin{cases} v_1 = 2e_2 + 2e_3 \\ v_2 = e_1 + e_2 + 2e_3 \\ v_3 = e_1 \end{cases}$

B is not diag.

$\Rightarrow \begin{cases} e_1 = v_3 \\ v_1 - v_2 = e_2 - e_1 = 0 \\ e_2 = v_1 - v_2 + v_3 \end{cases}$

and $2e_3 = v_1 - 2e_2 = v_1 - 2(v_1 - v_2 + v_3) = -v_1 + 2v_2 - 2v_3$

$e_3 = -\frac{1}{2}v_1 + v_2 - v_3$

$\begin{cases} f(v_1) = 2f(e_2) + 2f(e_3) = 2(e_1 + e_2) + 2(-e_1 + e_2 + 2e_3) \\ f(v_2) = f(e_1 + e_2 + 2e_3) = 4e_2 + 4e_3 = 2v_1 \\ f(v_3) = f(e_1) = e_1 = v_3 \end{cases}$

$f(v_1) = 2v_1$

$$\begin{aligned}
 &= 3e_1 + \overline{e_2} + 2e_3 + \overline{e_1} + \overline{e_2} + e(-e_1 + e_2 + 2e_3) \\
 &= 4e_1 + 2e_2 + 2e_3 - e_1 + 2e_2 + 4e_3 \\
 &= 2e_1 + 4e_2 + 6e_3 = 2v_3 + 4(v_1 - v_2 + v_3) \\
 &\quad + 6(-\frac{1}{2}v_1 + v_2 - v_3) \\
 &= 2v_3 + 4v_1 - 4v_2 + 4v_3 - 3v_1 + 6v_2 - 6v_3 \\
 &= v_1 + 2v_2 + 2v_3
 \end{aligned}$$

$$f(v_1) = v_1 + 2v_2$$

$$f(v_3) = f(1) = 3e_1 + e_2 + 2e_3 = 3(v_3) + v_1 - v_2 + v_3 = v_1 + 2v_2 - 2v_3$$

$$f(v_3) = v_2 + 2v_3$$

$$T = \sigma_{\mathcal{B}}(f) = \begin{pmatrix} 2 & 1 & 0 \\ 0 & 2 & 1 \\ 0 & 0 & 2 \end{pmatrix} = P^{-1}AP$$

$$P = T_3(2)$$

$$P = (v_1, v_2, v_3) = \begin{pmatrix} 2 & 1 & 1 \\ 2 & 1 & 0 \\ 2 & 2 & 0 \end{pmatrix}, P^{-1} = \begin{pmatrix} 0 & 1 & -\frac{1}{2} \\ 0 & -1 & 1 \\ 1 & 1 & -1 \end{pmatrix}$$

4) $N = B - 2I_3$, we have $p(\lambda) = -(\lambda - 2)^3$

$$Q(\lambda) = (\lambda - 2)^3 = 0 \Rightarrow Q(A) = (A - 2I_3)^3 = 0$$

$$\Rightarrow N^3 = O_3, N \text{ nilpotent of index } 3.$$

$B = N + 2I_3$
 We have $e = e \xrightarrow{B} e \xrightarrow{N+2I_3} e \xrightarrow{N+2I_3} e \xrightarrow{N+2I_3} e \xrightarrow{N+2I_3} e$

$$e \xrightarrow{2+I_3} e \cdot I_3 \Rightarrow e = e \cdot e$$

$$\begin{aligned}
 e \xrightarrow{2+I_3} &= I_3 + 2I_3 + \frac{(2I_3)^2}{2!} + \dots + \frac{(2I_3)^n}{n!} + \dots \\
 &= (1 + 2 + \frac{2^2}{2!} + \dots + \frac{2^n}{n!} + \dots) I_3 \\
 &= e^{2I_3}
 \end{aligned}$$

z/ we have $p(\lambda) = -(\lambda - 2)^3$, then

$$Q(\lambda) = \lambda - 2 \Rightarrow Q(B) = B - 2I_3 = \begin{pmatrix} 1 & 1 & -1 \\ 1 & -1 & 1 \\ 2 & 0 & 0 \end{pmatrix} \neq 0_3$$

$$Q(\lambda) = (\lambda - 2)^2 \Rightarrow Q(B) = (B - 2I_3)^2 = \begin{pmatrix} 1 & 1 & -1 \\ 1 & -1 & 1 \\ 2 & 0 & 0 \end{pmatrix} \begin{pmatrix} 1 & 1 & -1 \\ 1 & -1 & 1 \\ 2 & 0 & 0 \end{pmatrix}$$

$$Q(\lambda) = (\lambda - 2)^3 \Rightarrow \boxed{Q(B) = 0} = \begin{pmatrix} 0 & 0 & 0 \\ 2 & 2 & -2 \\ 2 & 2 & -2 \end{pmatrix} \neq 0_3$$

①

Ch of Cay-Hamilton.

The minimal polynomial $\boxed{Q(\lambda) = (\lambda - 2)^3}$ is not simple, then B is not diag.

$\mathcal{B}' = (v_1, v_2, v_3)$ is a basis because,

$$\begin{vmatrix} 0 & 1 & 1 \\ 2 & 1 & 0 \\ 2 & 2 & 0 \end{vmatrix} = 2 \neq 0$$

②

- we have $X' = BX = 0 \quad X = e^{tB} X_0$
 $\Rightarrow \begin{pmatrix} x \\ y \\ z \end{pmatrix} = e^{tN} e^{tN} \begin{pmatrix} c_1 \\ c_2 \\ c_3 \end{pmatrix} = e^{tN} \begin{pmatrix} c_1 e^{2t} \\ c_2 e^{2t} \\ c_3 e^{2t} \end{pmatrix}$

① $e^{tN} = I_3 + tN + \frac{(tN)^2}{2!} = I_3 + tN + \frac{t^2}{2} N^2$
 $= \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} + t \begin{pmatrix} 1 & 1 & -1 \\ 1 & -1 & 1 \\ 2 & 0 & 0 \end{pmatrix} + \frac{t^2}{2} \begin{pmatrix} 0 & 0 & 0 \\ 2 & 2 & -2 \\ 2 & 2 & -2 \end{pmatrix}$

$$e^{tN} = \begin{pmatrix} 1+t & t & -t \\ t+t^2 & 1-t+t^2 & t-t^2 \\ 2t+t^2 & t^2 & 1-t^2 \end{pmatrix}$$

$\Rightarrow \begin{cases} x = (1+t)c_1 e^{2t} + t c_2 e^{2t} - t c_3 e^{2t} \\ y = [(t+t^2)c_1 + (1-t+t^2)c_2 + (t-t^2)c_3] e^{2t} \\ z = [(2t+t^2)c_1 + t^2 c_2 + (1-t^2)c_3] e^{2t} \end{cases}$

①

⑧

Ex 3: N nilpotent: $\chi(N) = 0 = 0$
 $2x - 1 + 3 = 0 \Rightarrow 2x = -2$
 $\Rightarrow x = -1$

$$N = \begin{pmatrix} -2 & -1 & -1 \\ -4 & -1 & -3 \\ 5 & 2 & 3 \end{pmatrix}$$

$$N^2 = \begin{pmatrix} -2 & -1 & -1 \\ -4 & -1 & -3 \\ 5 & 2 & 3 \end{pmatrix} \begin{pmatrix} -2 & -1 & -1 \\ -4 & -1 & -3 \\ 5 & 2 & 3 \end{pmatrix} = \begin{pmatrix} 3 & 1 & 2 \\ -3 & -1 & -2 \\ -3 & -1 & -2 \end{pmatrix}$$

$$N^3 = N \times N^2 = \begin{pmatrix} -2 & -1 & -1 \\ -4 & -1 & -3 \\ 5 & 2 & 3 \end{pmatrix} \begin{pmatrix} 3 & 1 & 2 \\ -3 & -1 & -2 \\ -3 & -1 & -2 \end{pmatrix} = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$$

① $N^3 = O_3$

N is nilpotent of index 3.

02/ If $J_3(\lambda)$ is diag., then $\exists P$ /

$$D = \begin{pmatrix} \lambda & 0 & 0 \\ 0 & \lambda & 0 \\ 0 & 0 & \lambda \end{pmatrix} = P^{-1} A P = J_3(\lambda) \Rightarrow J_3(\lambda) = P D P^{-1}$$

② $\lambda, I_3 = P^{-1} A P \Rightarrow A = P \lambda, I_3 P^{-1} = \lambda, I_3 P P^{-1}$

$\Rightarrow A = \lambda, I_3 = D$ (absurd).

because $A \neq D$.

$$J_3(\lambda)$$

$J_3(\lambda)$ is not diag.



Exercise 1. (8 pts)

We consider the following matrix: $A = \begin{bmatrix} -3 & -2 & -2 \\ 2 & 1 & 2 \\ 3 & 3 & 2 \end{bmatrix}$

1. (1pt) Show that $P(\lambda) = (2 - \lambda)(\lambda + 1)^2$
2. (3 pts) Diagonalise A .
3. (3pts) Find A^n and solve the system of recurrence $X_{n+1} = AX_n$.
4. (1pt) Solve the differential system $X' = AX$.

Exercise 2. (8 pts)

We consider the following matrix: $B = \begin{bmatrix} 3 & 1 & -1 \\ 1 & 1 & 1 \\ 2 & 0 & 2 \end{bmatrix}$

1. (1pt) Show that $P(\lambda) = -(\lambda - 2)^3$
2. (1pt) Find the minimal polynomial $Q(\lambda)$, what can we deduce?
3. (3pts) Let $B' = (V_1, V_2, V_3)$, where $\begin{cases} V_1 = (0, 2, 2) \\ V_2 = (1, 1, 2) \\ V_3 = (1, 0, 0) \end{cases}$. Verify that B' is a basis and triangulate the matrix B .
4. (3pts) We put $N = B - 2I_3$:
 - Verify that N is nilpotent and that $e^{tB} = e^{2t}e^{tN}$.
 - Solve the differential system $X' = BX$.

Exercise 3. (4pts)

1. (2pts) For which $x \in \mathbb{R}$ is the following matrix nilpotent?

$$N = \begin{bmatrix} 2x & x & -1 \\ -4 & -1 & -3 \\ 5 & 2 & 3 \end{bmatrix}$$

2. (2pts) Let $J_3(\lambda_1)$ be a 3×3 Jordan matrix:

$$J_3(\lambda_1) = \begin{bmatrix} \lambda_1 & 1 & 0 \\ 0 & \lambda_1 & 1 \\ 0 & 0 & \lambda_1 \end{bmatrix}$$

Prove that $J_3(\lambda_1)$ is not diagonalizable.